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2)
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2)

14,424,300

13,113,000

1,311,300
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4)

35%

40%

0.00




2/

4)

1 13,113,000
2 10,621,000
3 7,665,000
4 6,652,000
5 1.000 6,652,000
6 1.000 0
7 3,969,000
8 1,013,000
9 1.000 0
10
(4+9+25+26+31+34-36-37-38)x (( *N035+N028)*N026*N030*N041)

6.525,000x ((12.680*1.200+0.000)*1.000*1.020*1.000) 15.520 1,013,000
11 1.000 0
12 1.000 0
13 1.000 0
14 1.000 0
15 1.000 0




3/

4)

16 1.000 0
17 0
18
(4+25+32-33)x ( )
6,326,000x (0.000) 0.000 0
19 1.000 0
20 2,956,000
21
(4+8+25+26+27+30-36-38) x (( *N035)*N027*N030*N042+N031+N032-N033)
7,538,000x ((33.960*1.100)*1.000*1.050*1.000+0.000+0.000-0.000) 39.220 2,956,000
22 1.000 0
23 1.000 0
24 1.000 0
25 1.000 0
26 1.000 0
27 1.000 0
28

(4+7-23-36-38)% (

*NO02+ )




4/

4)

10,494,000x (21.970*1.000 0.04) 22.010 2,309,000
29 1.000 183,000
30 0
31 0
32 0
33 326,000
34 0
35 0
36 127,000
37 0
38 0
39
(1-29)x
12.930,000x 3.630 3.630 469,000




1/

5)

6,652,000

1.000 1,290,000
1.000 68,000
10.000 m3 2,347 23,470
8.000 m3 3,268 26,144
6.000 m3 1,463 8,778
6.000 m3 368 2,208
2.000 m3 2,410 4,820
6 477 2,862
68,282

1.000 14,000
6.000 m3 2,410 14,460
14,460

1.000 1,208,000
100 m3 7,318 731,800
50 m3 9.514 475,700




2/

5)

1,207,500
1.000 4,245,000
1.000 4,245,000
t=150 118.000 26,404 3,115,672 10
RC-40 22.000 m3 7,827 172,194 11
105 3,687 387,135 12
6 3,980 23,880 13
VP 65  4.0m 39.000 320 12,480 14
18-8-40 W/C=60% 3.500 m3 71,130 248,955 15
18-8-25 W/C=60% 2.600 m3 66,670 173,342 16
1.000 3,980 3,980 17
t=100 2.400 m3 30,910 74,184 18
0.200 9,718 1,944 19
RC-40 t=100 24.000 1,289 30,936 20
4,244,702
1.000 465,000




3/

5)

1.000 465,000
18-8-25 1.800 m3 36,610 65,898 21
16.000 8,773 140,368 22
RC-40 t=15cm 5.800 1,391 8,068 23
18-8-25 0.300 m3 30,910 9,273 24
1.000 3,980 3,980 25
D13 0.086 ton 167,795 14,430 26
T-25 7.000 31,806 222,642 27
464,659
1.000 217,000
1.000 217,000
H=1.1m 29.000 7,471 216,659 28
216,659
1.000 435,000
1.000 413,000
t=15cm 71.000 4,329 307,359 29




4/

5)

t=10cm 71.000 469 33,299 30
@ 6% 150% 150 71.000 1,013 71,923 31
412,581
1.000 22,000
16.000 219 3,504 32
1.600 m3 11,342 18,147 33

21,651




5/

5)

183,000
1.000 183,000
1.000 183,000
58 35 1.000 183,000 183,000 34

183,000




( 1/ 1
1
m3 1.000 m3
SP
( )a=a- 1.000 m3 2,347 2,347 20
2,347
2,347
2
m3 1.000 m3
SP
1T2T T2 1.000 m3 3,268 3,268 21
3,268
3,268
3
m3 1.000 m3
SP
2= .1,000m3 1.000 m3 1,463 1,463 22
1,463

1,463




2/

12)

m3

1.000 m3

SP

1.000

m3

368

368

24

368

368

m3

1.000 m3

(

)

1.000

m3

2,182

2,182

SP

(
50,000m3

1.000

m3

227.7

228

23

2,410

2,410

1.000

SP

1.000

477.4

477

25

477

477




3/

12)

7
m3 1.000 m3
(
) 1.000 m3 2,182 2,182 4
SP (
50,000m3 1.000 m3 227.7 228 23
2,410
2,410
8
- m3 1.000 m3
C ) I 1
,4.0,27.0km 0.80(__0.60)m3, 1.000 m3 5,518 5,518 1
1.000 m3 1,800 1,800 12
7,318
7,318
9
o m3 1.000 m3
C ) I 1
.4.0.27_0km 0.80( 0.60)m3, 1.000 m3 6,714 6,714 2




4/

12)

1.000

m3

2,800

2,800

13

9,514

9,514

10

=150

1.000

..15,18-8-40 B

1.000

22,664

22,664

15

8.500

440

3,740

26,404

26,404

11

RC-40

m3

1.000 m3

SP

RC-40

1.000

m3

7,827

7,827

28

7,827

7,827

12




(

5/ 12)

1.000

1.000

3,687

3,687

19

3,687

3,687

13

1.000

SP
30m2 , . ( ) t=10mm

1.000

3,980

3,980

35

3,980

3,980

14

VP 65 4.0m

1.000

VP 65 4.0m,,

0.125

2,560

320

320

320

15




( 6/ 1)
18-8-40 W/C=60% m3 1.000 m3
i ). ,18-8-40( ) 1.000 m3 71,130 71,130 29
71,130
71,130
16
18-8-25 W/C=60% m3 1.000 m3
v ,18-8-25( 1.000 m3 66,670 66,670 30
66,670
66,670
17
1.000
SP
30m2 ( ) t=10mm 1.000 3,980 3,980 35
3,980
3,980

18




( 77/ 1>
t=100 m3 1.000 m3
SP
.—..18-8-25(20) ( 1.000 m3 30,910 30,910 38
B) W/C60%
30,910
30,910
19
1.000
SP
1.000 9,718 9,718 33
9,718
9,718
20
RC-40 t=100 1.000
SP
7.5cm 12.5cm RC-40 40 Omm 1.000 1,289 1,289 31
1,289

1,289




( 8/ 12y
21
18-8-25 m3 1.000 m3
SP
.—..18-8-25(20)( B) W 1.000 m3 36,610 36,610 39
/C60%
36,610
36,610
22
1.000
SP
1.000 8,773 8,773 34
8,773
8,773
23
RC-40 t=15cm 1.000
SP
12.5cm 17.5cm RC-40 40 Omm 1.000 1,391 1,391 32
1,391

1,391




( 9o 1
24
18-8-25 m3 1.000 m3
SP
- .—..18-8-25(20) ( 1.000 m3 30,910 30,910 38
B) W/C60%
30,910
30,910
25
1.000
SP
30m2 ( ) t=10mm 1.000 3,980 3,980 35
3,980
3,980
26
D13 ton 1.000 ton
SD345,D13, ,10t . , ,10% 1.000 ton 167,795 167,795 16

167,795




( 10/ 12y

167,795

27

T-25

1.000

( )
25 995x 500x 65,

1.000

30,900

30,900

.40kg 170kg/

1.000

906

906

17

31,806

31,806

28

H=1.1m

1.000

1.000

7,471

7,471

7,471

7,471

29

t=15cm

1.000




( 11/ 12

(
18N/mm2 25

)
mm( B).15cm

1.000

4,329

4,329

18

4,329

4,329

30

t=10cm

1.000

SP

e | . ,0mm, 100mm

1.000

469.1

469

36

469

469

31

@ 6x 150x 150

1.000

1.000

1,013

1,013

37

1,013

1,013

32

1.000




( 12/

12)

SP

.15cm s

1.000

219

219

27

219

219

33

m3

1.000 m3

SP

,12.0km

1.000

m3

7,582

7,582

26

1.000

m3

3,760

3,760

14

11,342

11,342

34

58 35

1.000

58 , 35 ( .29

1.000

183,000

183,000

11

183,000

183,000




